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Therefore, cot™! = cot™! (cot B) = 0 = sec”! x, which is the simplest form.

1 2x 3x—x3 1
Example 7 Prove that tan™' x + tan ﬁ: tan™! L xl<—

1-3x° NG

Solution Let x = tan 0. Then 0 = tan™' x. We have

RELS. — tan-! 3x—x° tan! 3tan6—tan® 0
R 1-3x% 1-3tan*0

=tan™ (tan30) =30 =3tan'x =tan' x + 2 tan"! x

2x
=tan™' x + tan™' — 2 = L.H.S. (Why?)

Example 8 Find the value of cos (sec™! x + cosec™! x), Ix1>1

b
Solution We have cos (sec™! x + cosec™ x) = cos (Ej: 0

| EXERCISE 2.2

Prove the following:
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1. 3sin”' x =sin™' Bx —4x%), x€ {——, —}
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3cos! x = cos™! (4x*-3x), x€ [E, 1}

tan~! £+ tan ! l—tam’1 l
A 24 2

9

1
2tan”"
4. 2

Write the following functions in the simplest form:
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5. tan' 2 x#0 6. N === x> ]
X x =1

~i| [1—=cosx _i[ cosx—sinx
7. tan LX< T 8., tan | —— |, x<™®
1+cosx Ccos x+sin x




